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Elimination Method rP[ % {

- Goal: Add or subtract the functions from cach other to eliminate one of the variables so that you
can solve for the other variable.
Write the solution as an ordered pair,
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Qa 2 y-intercepts). Graph each line in a different color. ]
‘= (‘{Io)) y =@ 6

-ﬁ({3x—2y=12
2x-4y=16 x= D= (O -
# (2x-4y=16 x= (8 0): ¥=( 4)

Date -

]
-
N

28
gquy 7 ’Q

2 What is thz solution to-this system?

3. Take the top ehuat'i'on and multiply bdth sides of the equation by -2. Graph this new equation in
a new color.

-2(3x-2y)=-2(12) > ‘éx e qY = agh o the
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4, What do you notice about the @% from number (3) and the/})ri ginal equation? Explain why
this makes sense algebraically.
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Sa Add the two '[‘)'rm;'ginal uﬁlations frOm nua1ber (1) together. Graph the resulting equation in yet
another color.
3x - 2y = 12
+ 2x - 4y = 16
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6. What do you notice about the graph of your new equation from number (5) in relatton to the
graph of the system of equations from number (3)? Think in terms of the solution to the original
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7. Rewrite the original system of equations from number (1), only replace the top equation with
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|7> your equation from number (3). Write the new system below. Explain, based on your answer to
number (4), why this replacement does not change the solution to the original system.
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8. Add the two equations in your system from number (7) just as you did in number'(5). What
happens? Why would this be helpful if you were trying to solve the system algebraically?
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9y Use your resulting equation in number (8) to solve the system al gebraically (for both x and y —
you will have to go back to the original system to solve for y)
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10..  Apply what you have learned in Ilzzﬂlhers 1 =9 to try to solve the following system:
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Solve the following systems of equations using elimination.
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